SECTION – I

Number of Questions: 25

DIRECTIONS for questions 1 to 4: Answer the questions on the basis of the information given below.

The following bar chart gives the number of students in all the different classes of DP school in the years 2020 and 2021 respectively.
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It is also known that,

i)
new students join the school only in class VII.

ii)
no student leaves the school before passing out from class XII.

iii)
the students who failed in a class have to study the same class again.

1.
If no student of class XI failed in the year 2020, then what is the pass percentage of class XII for the year 2020?

(1)
222/9%





(2)
162/3%






(3)
831/3%




(4)
777/9%





(5)
None of these
2.
How many students of class IX failed in the year 2020, if no student of class XI failed in the year 2020?


(1)
12






(2)
8







(3)
10





(4)
6






(5)
None of these

3.
If no student of class XI failed in the year 2020, then what is the total number of students of the school who failed in that year?


(1)
106






(2)
115







(3)
122



(4)
130






(5)
120
4.
If it is known that the school was opened in the year 2020 itself and 14 students of class X failed in that year, what is the percentage increase/decrease in the number of new students joining the school from 2020 to 2021?



(1)
16.66%






(2)
33.33%





(3)
50%




(4)
25%






(5)
Cannot be determined

DIRECTIONS for questions 5 to 8: Answer the questions on the basis of the information given below.

The following table gives some financial details of twelve Indian companies.

	Company
	Sales 

(Rs.crore)
	Expenditure 

(Rs.crore)
	Other Income

 (Rs.crore)
	Liquidity 

Ratio
	Net Profit 

(Rs.crore)

	A
	5800
	2790
	380
	1.40
	350

	B
	5490
	4790
	920
	1.75
	450

	C
	6400
	2680
	1240
	1.62
	180

	D
	3800
	2190
	1350
	1.48
	950

	E
	7820
	6230
	740
	1.80
	1020

	F
	2100
	1980
	980
	1.73
	800

	G
	4500
	4230
	650
	1.36
	720

	H
	3420
	2140
	1020
	1.44
	850

	I
	6500
	5460
	1460
	1.33
	650

	J
	6200
	5840
	1100
	1.40
	480

	K
	3680
	2200
	940
	1.75
	525

	L
	4500
	3680
	1130
	1.45
	550


Each of the above twelve companies belongs to exactly one of the four sectors – Pharmaceuticals, Automobiles, Mobiles and Construction. It is also known that, there are at least two of the above twelve companies in each of the four sectors. 

Further, it is also known that,

(i)
for any two mobile companies X and Y, if sales of X are more than Y, the expenditure of X will  be more than that of Y and the other income of X will be less than that of Y.

(ii)
for any two automobile companies X and Y, if the expenditure of X is less than that of Y, the liquidity ratio of X will be more than that of Y.

(iii)
for any two pharmaceutical companies X and Y, if the other income of X is more than that of Y, the net profit of X is more than that of Y.

(iv)
for any two construction companies X and Y, if the liquidity ratio of X is less than that of Y, the net profit of X is more than that of Y.

Further,

for every pharmaceutical company, the sales are more than Rs.5000 crore.

for every mobile company, the liquidity ratio is more than 1.6.

for every construction company, the other income is more than Rs.1000 crore.

for every automobile company, the net profit is more than Rs.700 crore

5.
Which among the following must be a construction company?


(1)
I






(2)
D







(3)
J





(4)
C






(5)
 None of these
6.
Which among the following cannot be a pharmaceutical company?


(1)
A






(2)
E







(3)
B


(4)
J






(5)
 None of these

7.
If there are four companies in sector S, then S can be 

(1)
Only Pharmaceuticals


(2)
Only Automobiles




(3)
Only Pharmaceuticals and Mobiles


(4)
Only Construction




(5)
Only Pharmaceuticals, Mobiles and Construction
8.
If all the four sectors have the same number of companies, then which of the following is true?


(1)
B is a pharmaceutical company.







(2)
F is a mobile company.


(3)
I is a construction company.








(4)
B is a construction company.


(5)
 None of these

DIRECTIONS for questions 9 to 12: Answer the questions on the basis of the information given below.

Mr. Francis, the head mechanic at a workshop, was a worried man. He had noticed that all his 18 assistants were regularly coming late to the workshop. So, he introduced a condition that, in any month, the first late would be pardoned. For 2, 3 or 4 lates in a month the salary is cut by 2%. For the next three lates, i.e., 5, 6 or 7 lates, a further 2% salary is cut and so on. 
The following table gives the number of days for which, each of the eighteen assistants ( A through R ( came late in each of the first six months of the year 2006. The workshop is closed for four days every month and none of the mechanics was absent even for a single day, during the first six months of 2006.
	Mechanic
	Month

	
	Jan
	Feb
	Mar
	Apr
	May
	Jun

	A
	7
	13
	8
	11
	15
	17

	B
	5
	14
	10
	16
	9
	10

	C
	15
	12
	7
	13
	14
	8

	D
	9
	7
	10
	8
	12
	15

	E
	12
	11
	11
	9
	14
	14

	F
	5
	6
	10
	9
	8
	7

	G
	12
	11
	11
	9
	7
	8

	H
	13
	15
	8
	10
	7
	12

	I
	7
	6
	5
	6
	5
	14

	J
	6
	7
	8
	13
	7
	12

	K
	15
	7
	13
	7
	8
	17

	L
	1
	12
	12
	11
	8
	13

	M
	18
	9
	8
	5
	6
	10

	N
	14
	8
	16
	9
	8
	15

	O
	10
	11
	8
	4
	3
	12

	P
	9
	7
	5
	8
	6
	8

	Q
	3
	7
	2
	5
	2
	11

	R
	5
	3
	6
	4
	7
	12


9.
Which of the given eighteen employees had the highest percentage cut in salary for being late, during the given period? 


(1)
A






(2)
C







(3)
N



(4)
Both A and N



(5)
None of these
10.
What is the minimum possible number of assistants, other than N, who reported for work on time, on at least five of the days on which N reported for work on time, in at least one of the first three months?

(1)
9






(2)
12







(3)
15



(4)
17






(5)
16
11.
In the given six months period, the persons who reported for work on time for the highest number of days and the second highest number of days respectively are 
(1)
A and D.




(2)
F and I.






(3)
Q and R.



(4)
Q and I.





(5)
F and R
12.
The number of days during the given period that both D and I reported to work on time, is at least

(1)
43






(2)
51







(3)
56



(4)
59 






(5)
52
DIRECTIONS for questions 13 to 16: Answer the questions on the basis of information given below.
Each of the five friends ( A, B, C, D and E – placed bets among themselves Each person placed at most one bet with every other person and none of the bets ended as a draw. The money involved in each bet is called as the stake of that bet and the person who wins the bet gets the stake of that bet from the person who lost the bet. The total money got by any person in all the bets he won is called as his gain and the total money lost by any person in all the bets that he lost is called as his loss. The following information is also known: 
(i)
No two persons won the same number of bets and no two persons lost the same number of bets.
(ii)
For any person, the stakes of any two bets are different.
(iii)
The stake of any bet is an integer amount (in Rs.) and is neither less than Rs.4 nor more than Rs.21.
(iv)
Neither the gain of any person who won at least one bet nor the loss of any person who lost at least one bet is less than Rs.20 or more than Rs.40.
(v)
The sums of the stakes (in Rs.) of all the bets placed by each of  A, B, C, D and E are 55, 37, 40 55 and 53 respectively.

(vi)
The number of bets won by D is equal to the number of bets lost by A. The number of bets lost by C is more than the number of bets lost by D.

(vii)
E won Rs.17 against A and the stake involved in the bet between C and D is Rs. 4. The gain of A is equal to the loss of D.

13.
The person who won the maximum number of bets is

(1)
A






(2)
B







(3)
C



(4)
E






(5)
D
14.
The person who won the same number of bets as he lost is

(1)
B






(2)
A







(3)
D



(4)
E






(5)
C
15.
The stake (in Rs.) in the bet between B and C is

(1)
4






(2)
5







(3)
6



(4)
7






(5)
8
16.
What is the total loss (in Rs.) of A?

(1)
25






(2)
30







(3)
35



(4)
40






(5)
45
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DIRECTIONS for questions 17 to 19: Answer the questions on the basis of the information given below.

The following figure gives the percentage market shares (by total units sold, both in the domestic market and the exports) of bikes, scooters and mopeds, by all the six two-wheeler manufacturers operating in the country, in the year 2005. 
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The table below gives the share of bikes, scooters and mopeds exported by these six companies as a percentage of their respective total sales. 
Total Sales = Domestic Sales + Exports.
	Category
	A
	B
	C
	D
	E
	F

	Bikes
	20
	35
	25
	30
	40
	15

	Scooter
	10
	5
	0
	10
	25
	10

	Mopeds
	10
	0
	10
	15
	10
	5


17.
If the ratio of the number of bikes, scooters and mopeds exported by company D was 36 : 8 : 3, then what was the ratio of the domestic sales (in units) of the bikes, scooters and mopeds sold by company A?

(1)
18 : 10 : 5




(2)
16 : 10 : 5





(3)
3 : 2 : 1


(4)
3 : 1 : 2





(5)
None of these
18.
If for company E, the domestic sales (in units) of scooters are less than that of each of bikes and mopeds, then what is the ratio of the total number of scooters sold to the total number of 
two-wheelers sold by all the six manufacturers together?

(1)
26 : 75





(2)
30 : 50






(3)
31 : 25



(4)
35 : 49





(5)
Cannot be determined

19.
If for company E, the total sales (in units) of bikes and scooters are the same, for how many of the given six companies was the total number of bikes sold by that company more than twice the total number of scooters sold by that company? 

(1)
1


(2)
2


(3)
3


(4)
4


(5)
0
DIRECTIONS for questions 20 to 22: Answer the questions on the basis of the information given below.

125 small unpainted cubes are arranged to form a large cube. All the six faces of the large cube are painted white. Now a 3 ( 3 cube, comprising 27 small cubes, is removed out of one of the corners of the large cube. This 3 ( 3 cube is now painted blue on all six faces, while all the three surfaces (each of which is a 3 ( 3 square) of the large cube exposed due to the removal of the 3 ( 3 cube are painted black. Then, the 3 ( 3 cube is put back in its original position in the large cube and the large cube is finally painted yellow on all six faces. 

20.
What is the number of small cubes which have exactly three faces painted?


(1)
8


(2)
16


(3)
18


(4)
19


(5)
6
21.
What is the number of small cubes with exactly one face painted?


(1)
36


(2)
39


(3)
42


(4)
45


(5)
48
22.
What is the number of small cubes with no face painted?


(1)
1


(2)
8


(3)
10


(4)
4


(5)
12
DIRECTIONS for questions 23 to 25: Answer the questions on the basis of the information given below.

NMS University follows a grading system to evaluate a student’s performance at undergraduate level. Each year comprises two semesters, each of duration 6 months. Each of the first four semesters has six courses each, but semester V has only four courses and semester VI has only three courses. The conversion between letter grades to number grades is as given below

	Letter grade
	AA
	AB
	BB
	BC
	CC
	CD
	DD
	F
( Fail)

	Number grade
	10
	9
	8
	7
	6
	5
	4
	0


The performance Index (PI) of any student for any semester (i.e., Semester Performance Index – SPI) or any year (i.e., Year Performance Index – YPI) is defined as the weighted average of the students grades for that semester/year.
SPI or YPI 
= 
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A particular student’s performance is tabulated below.

	Semester
	Course 1
	Course 2
	Course 3
	Course 4
	Course 5
	Course 6
	Total Credit
	SPI *

	I
	Courses
	A1
	A​2
	A3
	A4
	A5
	A6
	
	

	
	Credits
	–
	6
	–
	4
	8
	–
	40
	SPI = 7.15

	
	Grade
	–
	BC
	–
	CC
	BC
	–
	
	

	II
	Courses
	B1
	B2
	B3
	B4
	B5
	B6
	
	

	
	Credits
	8
	8
	8
	10
	8
	0
	–
	–

	
	Grade
	CC
	BC
	CC
	CC
	–
	CD
	
	

	III
	Courses
	C1
	C2
	C3
	C4
	C5
	C6
	
	

	
	Credits
	–
	6
	6
	6
	8
	–
	–
	SPI = 8

	
	Grade
	–
	BB
	–
	BC
	AA
	–
	
	

	IV
	Courses
	D1
	D2
	D3
	D4
	D5
	D6
	
	

	
	Credits
	6
	6
	8
	4
	4
	4
	–
	SPI = 6.5

	
	Grade
	BC
	AB
	BC
	DD
	AA
	–
	
	

	V
	Courses
	E1
	E2
	E3
	E4
	
	
	
	

	
	Credits
	–
	6
	–
	14
	
	
	–
	SPI = 8

	
	Grade
	–
	–
	–
	BB
	
	
	
	

	VI
	Courses
	G1
	G2
	G3
	
	
	
	
	

	
	Credits
	14
	14
	20
	
	
	
	–
	SPI = 8.58

	
	Grade
	AB
	–
	AB
	
	
	
	
	


* Semester Performance Index

It is also know that, 

(a)
for each of the courses A1, A3, A6, C1, C6, E1, and E3, the numerical grade obtained in the course  = number of credits for the course.

(b)
the number of credits for the courses A1, A3, C1, C6, E1 and E3 are equal and the number of credits for course A6 is 6.

23.
If the YPI (Year Performance Index) of the student for the first year (i.e., for Semester I and Semester II, together) is 6.56, what is the grade that he obtained in the course B5?


(1)
CC







(2)
BC






(3)
CD


(4)
DD







(5)
F


24.
If the student failed in only one course in all the three years, in which semester did he fail?


(1)
Semester VI




(2)
Semester III



(3)
Semester IV



(4)
Semester V





(5)
Semester I
25.
If CPI (Cummulative Performance Index for all the three years put together) is defined in a manner similar to SPI and YPI, what is the CPI of the student?


(1)
7.4







(2)
6.6






(3)
7.15





(4)
6.25






(5)
Cannot be determined

SPACE FOR ROUGH WORK

SECTION – II

Number of Questions: 25

DIRECTIONS for questions 26 to 50: Answer the questions independently of each other.

26.
If x0 = 1 and xn + 1 + 12n = 5xn + 3, find x200. 


(1)
5200 ( 600




(2)
5200 + 600




(3)
5199 ( 600




(4)
5199 + 600




(5)
5200 – 597

27.
A ten-digit number N is divisible by both 72 and 88. If N = x123y4566z, then how many distinct values of N are possible?


(1)
1






(2)
5






(3)
10





(4)
6






(5)
4

28.
A pentagon ABCDE is inscribed in a circle. From a point P outside the circle, two tangents, which touch the circle at B and C respectively, are drawn. If (BCA = 36° and (AEC = 78°, then 
(BPC =

(1)
96°






(2)
78°






(3)
102°





(4)
84°






(5)
114°

29.
(x(  is defined as the least integer greater than or equal to x and  (x( is defined as the greatest integer less than or equal to x. 


If the following definitions hold true, 


A (x, y) = (x( + (y( +  (x + y(


B (x, y) = (x( + (y( + (x + y(


C (x, y) = (2x( + (2y(

D (x, y) = (2x( + (2y(



which of the following is always true?


(1)
D (x, y) ( A (x, y)




(2)
D (x, y) < B (x, y)




(3)
2B (x, y) < C (x, y) + A (x, y)

(4)
A(x, y) + B(x, y) > C(x, y) + D(x, y)

(5)
None of the above

30.
The sum of the tens digit and the hundreds digit of a four-digit number is twice the thousands digit. The sum of the tens digit and six times the units digit is twice the sum of the hundreds digit and the thousands digit. The sum of the thousands digit and five times the units digit is twice the tens digit. Find the sum of all the four-digit numbers which satisfy the given conditions.

(1)
4269





(2)
9723





(3)
12963




(4)
8538





(5)
12936

31.
If 
[image: image2.wmf][
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 – 17log2(x2 + 24x) + 72 = 0, how many integral values of x satisfy the equation? 


(1)
0






(2)
1






(3)
2





(4)
3






(5)
4

32.
A, B, C, D, E, F and G are single-digit non-negative integers, not necessarily distinct. If the recurring decimal 
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, where DE and FG are both two-digit numbers relatively prime to each other, how many values can ABC assume?

(1)
44






(2)
49






(3)
39





(4)
48






(5)
57
33.
Rahul had two equal lots of chocolates. He distributed the first lot of chocolates equally among the children of group A and the second lot of chocolates equally among the children of group B. Each child in group A received as many chocolates as the square root of the number of children in it and there were 9 chocolates remaining in the first lot after the distribution. Each child in group B received as many chocolates as the number of children in it and there were no chocolates remaining in the second lot after the distribution. It is known that Rahul had less than 2000 chocolates initially. If all the chocolates initially with Rahul had been divided equally among all the children of both the groups together, then how many chocolates would Rahul have been left with?


(1)
9






(2)
3






(3)
42





(4)
47






(5)
19

34.
In the figure given below, ABCD is a parallelogram, with the length of AB being two-thirds the length of BC. E is the midpoint of AB and F is a point on BC such that (EFB = (BAC.


If the length of FC is 8 cm more than that of AE, what is the perimeter (in cm) of the parallelogram ABCD?

(1)
80 






(2)
84






(3)
64 




(4)
72 






(5)
60


35.
A total of 11 teams participated in a hockey tournament in which every team played exactly one match with every other team. In any match a team gets four points for a win, three points for a draw and two points for a loss. The total score of no two teams was the same at the end of the tournament. If the number of points of the team with the highest total score is 35, then which of the following could be the number of points of the team with the least total score?


(1)
22






(2)
23






(3)
24




(4)
25






(5)
Any of the above

36.
The first 20 positive integral powers (the index being a positive integer) of the first 100 natural numbers are stored in the memory of a computer. The computer then randomly selects one of these numbers and finds the units digit of that number. If Pk is the probability of the digit 
k (0 ( k ( 9) being the units digit of the number selected, then the maximum possible value of 
Pk is


(1)
1/4






(2)
2/9






(3)
3/10




(4)
1/5






(5)
2/11

37.

In the figure above, BD = 9 cm, DC = 18 cm and AB = BC. F is a point on AD, such that 
AF = 3FD and BF, when extended, meets AC at E. If
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, find (ACB.

(1)
30°






(2)
45°






(3)
60°




(4)
22 1/2°





(4)
None of these

38.
How many natural numbers having at most six digits have the sum of their digits as at most six?


(1)
461






(2)
923






(3)
924





(4)
462






(5)
1000

39.
Anoop multiplied two two-digit natural numbers. He then reversed the digits of each number and found the product of the resultant numbers. Interestingly, he found both products to be the same. If the product of the tens digits of the two numbers is prime, find the sum of all the possible products that Anoop could have obtained.


(1)
2604





(2)
2712





(3)
2697




(4)
2627





(5)
2267

40.

In figure above, ADE is a triangle in which AB : BD = 3 : 7 and BC is parallel to DE. If  CP and DR are the perpendiculars drawn to BE from C and D respectively, find the ratio of  the area of triangle BPC and the area of triangle ERD.


(1)
3 : 10





(2)
9 : 100





(3)
9 : 49




(4)
25 : 144




(5)
Data inadequate

41.
There are n terms in an arithmetic progression. The n terms of the arithmetic progression are now distributed into eight sub series – S1, S2 ……and S8 – as follows. The 1st, 9th, 17th terms and so on go into  S1; the 2nd, 10th, 18th terms and so on go into S2; the 3rd, 11th, 19th terms and so on go into S3, and so on for S4 till S8. If for exactly three of the eight sub series, the average of the sub series is a term of the same sub series, which of the following could be a possible value of n?

(1)
37






(2)
43






(3)
49





(4)
51






(5)
53

42.
A bird can fly, at any speed, between two points A and B, which are a distance d km away from each other. The energy required per second to fly at a speed of v m/second is given by 
E = v3 – 16v2 + 100v units. Find the maximum possible value of d, if the bird has a total energy supply of 1,44,000 units.

(1)
4






(2)
8






(3)
12




(4)
16






(5)
2

43.
Alice had a circular piece of paper, using which she formed a cone of the maximum possible volume. However, to do this, she first cut out a sector from the circular piece of paper, and then folded this sector into a cone (without a base). Alice then measured the area of the base of the cone, so that she could purchase some more paper to cover it. If A is the area of the sector with which Alice formed the cone, then find the area of the base of the cone?


(1)
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(2)

[image: image6.wmf]A

3

2







(3)
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44.
How many three-digit numbers have the hundreds digit as the ten’s complement of the tens digit and the sum of the cubes of the digits as equal to the number itself? (The ten’s complement of a digit k is the digit 10 – k)


(1)
1






(2)
2






(3)
3




(4)
4






(5)
0

45.
The average of the numbers of a set P, consisting of 20 numbers, is 20. There are 20 numbers in another set Q = {ai / i = 1, 2, 3, ….20}. Now, all the 20 numbers, starting from a1 to a20, in that order, are shifted from the set Q to the set P, one after the other. During the process of shifting, it was observed that when  the number ai was shifted from set Q to set P, the average of the numbers of set P increased by bi, where bi + 1 – bi = 1, for 1 ( i ( 19. If b1 = 2, what is the average of the original 20 numbers of set Q?

(1)
250






(2)
230






(3)
480





(4)
240






(5)
62

46.

A jewellery shop owner raised the prices of all the jewels in his shop by y% and then lowered them by y%. After one such up-down cycle, the price of one particular jewel in his shop was Rs.100 less than its original price. After some time, he again raised the prices of all the jewels in his shop by 
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 and then lowered them by 
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. After this second up-down cycle, the price of that same jewel was less than Rs.2380 but more than Rs.2360. Which of the following can be the original price (in Rs.) of that jewel? 


(1)
2480





(2)
2490





(3)
2505




(4)
2475





(5)
2510

47.
If (1 + x + x5)15 = a0 + a1x + a2x2 + a3x3 +…+a74x74 + a75x75, then for how many values of 
i (0 ( i  ( 75) is ai ( 0?

(1)
76






(2)
66






(3)
69




(4)
72






(5)
70


48.
Two boys Ajay and Bijay start simultaneously from P towards Q. At the same time another boy, Chatur, started from Q towards P. After Bijay travelled exactly one-third of the distance PQ, both Ajay and Bijay reversed their direction (but maintained their respective speeds) and travelled towards P, while Chatur continued in his initial direction and met Ajay exactly at P. Which of the following ratios can be found using the information given?

I.
Ratio of the speeds of Ajay and Bijay



II.
Ratio of the speeds of Bijay and Chatur

III.
Ratio of the speeds of Chatur and Ajay



(1)
Only I





(2)
Only II





(3)
Only III




(4)
I, II and III




(5)
None of I, II and III

49.
A tap takes 8 seconds to fill a jar and 6 minutes to fill a drum. Ram has to fill the drum with the jar. First he fills the jar and then brings it to the drum and pours the water into the drum. The time taken to bring the jar from the tap to the drum is 10 seconds. Unfortunately, the jar develops a leak, which can empty the full jar in 40 seconds. What will be the minimum total time required by Ram to fill the drum? 

(1)
18 3/4 minutes



(2)
18 minutes




(3)
20 minutes



(4)
16 2/3 minutes



(5)
12 minutes

50.
If x =
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, find the value of x.

(1)
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(2)
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(3)

[image: image15.wmf]4

33

9

+





(4)
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(5)
None of these

SPACE FOR ROUGH WORK

SECTION – III

Number of Questions: 25

DIRECTIONS for questions 51 and 52: Each of the following questions has a paragraph with one italicized word that does not make sense. Choose the most appropriate replacement for that word from the options given below the paragraph.

51.
Asian bus accidents every year have certain common denominators : over worked, exhausted drivers racing each other to pick up passengers and revenue; twisting two - lane mountain roads with inadequate guard rails; incompetent drivers and unsafe vehicles placed on the road by recleft 
officials.
(1)
decrepit





(2)
corrupt





(3)
adept




(4)
inept





(5)
outrageous
52.
Much has been written about the Ustad as a devout Muslim who also worshipped Saraswathi, the muse of all artists. His recarism and tolerance were not learnt, they were instinctive and non- didactic – something that flowed naturally in the context of his being.

(1)
aphorism




(2)
secularism




(3)
pluralism



(4)
theism





(5)
zealotry
DIRECTIONS for questions 53 and 54: Identify the INCORRECT sentence or sentences.

53.
A.
It has been a cruel summer for the BPO industry, as news of clients cancelling outsourcing deals to India kept breaking with alarming regularity.

B.
If that was not bad enough, more incidents of data fraud have put up a question mark on the security of business transacted in India.
C.
The primary reason for outsourcing work to India – cheap labour – does not hold true any more.
D.
India does not have the personnel  with the right qualifications and skills. 

(1)
A, B and D




(2)
A and C




(3)
Only D




(4)
C and D




(5)
Only B
54.
A.
Energy prices are like a wild card.

B.

They can take any value and it is very difficult to predict their behaviour.
C.
At the end of the Iraq war, it was predicted that oil prices would fall to $ 25 per barrel but it rose to $ 60 per barrel in no time.

D.
The future seems even bleaker.

(1)
Only B





(2)
A and C




(3)
Only C




(4)
C and D




(5)
Only D

DIRECTIONS for questions 55 and 56: Each question consists of four sentences on a topic. Some sentences are grammatically incorrect or inappropriate. Select the option that indicates grammatically CORRECT AND APPROPRIATE sentences.

55.
A.
In an open economy, many of the economic parameters have to be in tune with the trends in world economy.

B.
On these grounds, increase in interest rate can be justified.

C.
It may have some adverse impact over industrial and other investments.

D.
However, interest rate is only one of the factors that determines investment and growth.

(1)
C and D




(2)
A and C




(3)
A, B and D



(4)
A and B




(5)
Only C

56.
A.
Till recently, the concept of realistic advertising on TV was considered a fantasy.

B.
In the past, most commercials were dictated by hyperbolic situations and random opulence and promoted by star power which made products seem like a distant probability.

C.
Given the indian consumers passion for larger-than-life images, companies will continue to use logic-defying commercials.
D.
But as the economy evolves so will the advertising.
(1)
A and C




(2)
A and B




(3)
B and D

(4)
A, B and D




(5)
C and D
DIRECTIONS for questions 57 to 59: The sentences given in each of the following questions, when properly sequenced form a coherent paragraph. Each sentence is labelled with a letter. From among the four choices given below each question, choose the most logical order of sentences that constructs a coherent paragraph.

57.
A.
The logic was that stripping the plane's paint would lighten it by 360 pounds, thereby reducing  air resistance and cutting expenses by $ 24000 per plane a year in terms of fuel saving. 

B.
In a market of soaring expenses and plunging profits, there are two ways to survive – constantly streamline operations and increase revenue even as you strive to keep customers happy.
C.
While the trial was limited to only one Boeing, the airline planned to extend the experiment to the rest of the fleet, if it worked.

D.
Believe it or not, in November last year, Air Canada decided to call in strippers.

E.
While airlines in India haven't yet felt the need to go so far, each one is finding ways to get 
a bigger bang for the buck.

F.
Whether you are a full service airline or low cost carrier, the passenger is looking for a deal.


(1)
BDCAEF




(2)
DCAFBE




(3)
BCDFAE

(4)
DAEFBC




(5)
BFDACE

58.
A.
A whole range of information-based industries and applications has come up creating new sources of employment and earnings.

B.
Vision 2020 conceives of India as evolving into an information society and knowledge economy – where IT and telecommunications will be the springboard of growth.

C.
Already telecom is improving opportunities for people across different social strata.

D.
It has improved access in the fields of education, healthcare, governance and business services.

E.
An efficient and rapid flow of information is a catalyst for economic and social development.
F.
Information and communication technology has caused rapid innovations in other areas of material sciences.

(1)
ABCEFD




(2)
ECABDF




(3)
BAEFDC



(4)
EBCAFD




(5)
FEDACB

59.
A.
According to a survey by the National Institute of Education Planning and Administration only 65.56 percent of all classrooms are in good condition.
B.
It is a sad commentary on the state of the nation that nearly 42000 state-run schools still function without buildings of their own, while over one lakh schools have only one classroom.

C.
In meeting needs such as drinking water, toilets, blackboards and furniture, there are major inadequacies.

D.
Budgetary allocations for education as a whole, and elementary education specifically, have risen only incrementally over the decades.

E.
The picture at the crucial entry level is particularly bleak in rural areas and the worst affected are the poor.

F.
The rest are in need of either major or minor repairs.

(1)
ABDFCE




(2)
BDAFCE




(3)
BEDAFC



(4)
AFBDCE




(5)
DBACEF
DIRECTIONS for questions 60 and 61: In each question, five different ways of presenting an idea are given. Choose the one that conforms most closely to standard English usage.

60.
A.
The survey of households of persons living with HIV, sponsored by the UNDP and conducted by the National Council of Applied Economic Research, reveals that such chronic infections impoverish thousands of families and, as a consequence, denies children the right to education.

B.
The survey of households of persons living with HIV, sponsored by the UNDP and conducted by the National Council of Applied Economic Research, reveal that such chronic infections impoverish thousands of families and, as a consequence, deny children the right for education.

C.
The survey of households of persons living with HIV, sponsored by the UNDP and conducted by the National Council of Applied Economic Research, reveals that such chronic infections impoverish thousands of families and, as a consequence, deny children the right for education.

D.
The survey of households of persons living with HIV, sponsored by the UNDP and conducted by the National Council of Applied Economic Research, reveals that such chronic infections impoverish thousands of families and, as a consequence, deny children the right to education.
E.
The survey of households of persons living with HIV, sponsored by the UNDP and conducted by the National Council of Applied Economic Research, reveal that such chronic infections impoverish thousands of families and, as a consequence, deny children the right to education.
(1)
A


(2)
B


(3)
C


(4)
D


(5)
E

61.
A.
Clearly, a modern agriculture, frantically struggling to right the wrongs for its single vision, is 
 


not ecologically sane, no matter how productive, efficiently or economically sound it may 
 


seem.


B.
Clearly, a modern agriculture, frantically struggling to right the wrongs of its single vision, is ecologically sane, no matter how productive, efficient or ecologically sound it may seem.


C.
Clearly, a modern agriculture, frantically struggling to right the wrongs of its single vision, is not ecologically sane, no matter how productive, efficient or economically sound it may seem.


D.
Clearly, a modern agriculture, frantically struggling the right the wrongs of its single vision, is not ecologically sane, no matter how productive, efficient or ecologically sound it may seem.


E.
Clearly, a modern agriculture frantically struggling to right the wrongs of its single vision, is not ecologically sane, no matter how productive, efficient or ecologically sound they may seem.


(1)
A


(2)
B


(3)
C


(4)
D


(5)
E

DIRECTIONS for questions 62 and 63: Five alternative summaries are given below each text. Choose the option that best captures the essence of the text.

62.
It is indeed often forgotten that the purpose of education is primarily to help students become better human beings and effective citizens. Making people into good engineers, doctors, accountants, managers and lawyers, is at best, a secondary objective of education. The kind of education, which is now attempted to be imparted starting at a very early stage and continuing into what is often referred to as higher education, can at best be called vocational education because it prepares participants to become proficient in their chosen profession. The loser is what should appropriately be called basic education. The result is that the trained personnel we have are good at doing vocational and professional work but lack basic human qualities. The myriad social tensions and issues that we face today are an inevitable consequence of this.
(1)
The primary purpose of education is to cultivate basic human values in students and make them good citizens. Education, which is imparted now a days, produces trained and skilled professional in different fields. The social tensions that exist today are due to this.
(2)
Education system only makes individuals proficient in their chosen activity and fails to achieve its primary objective of making them good human beings. This has led to the myriad social problems that exist now.

(3)
We often forget that the primary purpose of education is to help students become better human beings and focus on the secondary objective of making them trained and skilled professionals.

(4)
The social tensions we face today are due to our faulty education system. We make good engineers, doctors, accountants and lawyers, but not good human beings. People possess degrees, but lack human values. So education fails to achieve its primary objective
(5)
Though the primary purpose of education is to produce good human beings, our system produces professionals who excel in their chosen field at the cost of humanity. The social tensions arise out of this anomaly. 
63.
What is it that enthuses and motivates an employee to work harder? This is one question that fascinated and confounded many an employer till a bright chap came up with the idea of adding perks to the regular wage system in the hope of boosting worker morale and productivity. They have been around for a long time now, what with the daily grind becoming increasingly tougher and more stressful. A perk that allows employees to enjoy a better work-life balance is a significant attraction. Many people willingly forego a hike in pay for a better quality of life. From the truly bizarre, to the hackneyed run-of-the mill kind, employers try every sort of bait to retain loyal and talented staff. But, what is it that the employees want? Hard cash, time offs, or career enhancement opportunities? Or is it club memberships, happy hours or salsa lessons? Well, to be honest, it depends.

(1)
Perks have been an effective tool in improving employees’ morale and productivity. In today’s stressful work environment, perks that allows employees to balance their work and life better is a major attraction. To retain talented and loyal staff, employers are ready to offer a wide variety of perks depending on their employee’s tastes and demands.

(2)
Employees have always tried to figure out ways of improving their employees’ morale and productivity. Perks that help employees’ enjoy better work-life balance have been very effective in today’s demanding work schedules.

(3)
In today’s stressful work environment, employers are trying hard to figure out ways of improving employees’ morale and productivity. The practice of adding perks to regular wages has been around for a long time. From the truly bizarre to the run-of-the mill kind, employers are willing to offer anything to retain their staff and help them achieve better work-life balance.

(4)
Perks, which were introduced with a view to improve employees’ morale and productivity, are no longer proving to be effective. In today’s stressful work environment, employees are no longer satisfied with just cash benefits. To retain loyal and talented staff, employers are willing to offer anything that employees demand.
(5)
In trying to find an answer to what motivates employees a bright chap came up with the idea of perks. Perks are varied from the routine to the strange and their appeal varies from person to person but they are not always successful.

DIRECTIONS for questions 64 to 75: Read the following passages carefully and choose the best answer for each of the questions that follow.

Passage – I

Technology is now warring openly against the crafts, and science covertly against poetry. The original meaning of these terms has long been forgotten. Craft in Anglo-Saxon meant ‘intelligence’ with ‘crafty’ as its adjective, and applied mainly to manual dexterity in producing useful objects. But in the term ‘arts and crafts’, craft takes the less important position because art, its Norman-French equivalent, covered the production of a nobler range of objects, just as the Saxon word ‘stool’ (German Stuhl) came to mean a humbler chair without a back, whereas ‘ chair’ (Greek Kathedra) was what the Norman-French gentility used as a sign of their own importance – a stool with back, arms and footrest. This social distinction between stool and chair still survives; one is offered a stool of repentance or a dunce’s stool, but a Chair of philosophy; and toads sit on toadstools not on toad chairs. 

‘Technology’ is a Greek compound noun originally meaning ‘the topic of craftsmanship’, but now meaning ‘the application of mechanics to manufacture’, and ‘manufacture’, which originally meant a ‘making by hand’ and usually implied sweated labour, has come to cover the production of goods by almost wholly mechanical means; so that a home-knitted jersey can no longer be called a manufacture – it is a product of craftsmanship. As for the secret war between science and poetry, one must study their original meanings to make sense of it. Science, meaning the art of knowing, is the Latin equivalent of the Greek word philosophy meaning ‘love of wisdom’. And poetry (it is strange how few scientists are aware of this) comes from the Greek verb poiein meaning ‘to make or do’, which explains ‘maker’ the early Anglo-Scottish word for ‘poet’ as in Dunbar’s famous Lament for the Makers. True poetry makes things happen. Many ignorant young poets must have turned to Aristotle’s Poetics in the hope of finding a poetic theory discussed there; but of course Plato, Aristotle’s master, had banished all poets from his ideal republic and pretended that Greek poetic myth was mere nonsense, not tribal or civic history crystallized in dramatic form. Aristotle’s Poetics therefore discusses how things are, or should be, made to happen – by any but poetic means. The power of true poetry, as opposed to academic versification, is of a sort that scientists cannot recognize: if only because at its most intense, it works in Fifth Dimension, independent of time. Several well-known mathematical discoveries, such as Rowan Hamilton’s quaternion formula which came to him suddenly one day as he was walking across Phoenix park, Dublin, plainly derive from fifth-dimensional thinking: they are not built up from similar theories but make a leap into the future. Yet scientists would dismiss a similar process in the writing of poems as ‘illogical’: meaning that the resultant poem does not make a prose sense precise enough to permit exact translation into another language.

Some years ago I was invited to give the Blashfield address in New York and took Baraka for my subject- Baraka is the Moslem sense of blessedness that attaches itself to buildings or objects after years of loving use by noble-hearted people. Baraka may seem a foolishly sentimental subject, but few practical people will deny that to break in a new guitar, typewriter or car, and as it were, humanize it, so that it never lets one down, takes a long time even if one has used a predecessor of the same make for years previously. And a ship’s engineer, especially if he is a Scot, often achieves so friendly a relationship with his engines that they somehow continue to work after apparently irremediable damage. The apprentice in the song ‘Sally in our Alley’ despises the alley and tells Sally that one day he will take her away from her rascally parents to a better place and there marry her. I wonder whether she lived happily ever after in a distant row of suburban residences all built on the same plan, with no neighbours whom she knew – her new house furnished throughout with machine-made fittings and furniture, everything ruled by straight lines with regular curves which tired her eyes. And whether she soon longed for the Baraka of the cramped but homelike kitchen in the alley where she had been brought up, and learned as a child to make do with a bunch of rags for her doll and a shoe-box for its cradle. Briefly speaking, technology produces millions of identical and spiritually dead objects which as a rule take far longer to humanize than their expected length of service; whereas unmechanized crafts exercised by individuals or closely knit groups produce objects with the elements of life in them. 

Science has come to imply a belief in so ordering our civilized life that every citizen will enjoy the same mechanical range of amenities as every other, and as much leisure as is needed; a leisure now usually occupied no longer by entertainment in pubs, cinemas and music-halls but by radio and television in the home. 

The worst that one can say about modern science is that it lacks a unified conscience, or at least that it has been forced to accept the power of Mammon. Mammon – or at least the Talmudic Mammon of Unrighteousness – exploits the discoveries of science for the benefit of international financiers, enabling them to amass more and more money and, it is hoped, to control all markets and governments everywhere. 

In ancient times, the use of scientific discovery was closely guarded for social reasons – if not by the scientists themselves then by their rulers. Thus the steam engine invented in Ptolemaic Egypt for pumping water to the top of the famous lighthouse on the island of Pharos was soon abandoned, apparently because it encouraged laziness in slaves who had previously carried waterskins up the lighthouse stairs. The same with the early invention of the water-mill for grinding corn : it was left unexploited by the Romans for much the same reason as the Pharos pump​​​ – all corn had hitherto been ground in hand-querns by slave labour. Still more remarkable was the medieval invention of the electric battery by Baghdad Sufis and their abstention from putting it to commercial use for light, heat, and power lest it interfere with traditional arts and crafts. Then there is Suetonius’s account of how an anonymous inventor came to the Emperor, Tiberius, offering to show him a new sort of glass. He dropped a lump of this on the marble floor in front of Tiberius’s throne as if by accident. When it bounced Tiberius asked him whether he had divulged the secret of its manufacture to anyone, and if so to whom. The man swore that it remained his own, so Tiberius sentenced him to death, remarking that glass of this nature would be found so valuable in the making of jewellery and table ware that it would depreciate the value of gold and upset the Imperial economy. Then again, the highly inventive Mexican Aztecs knew about wheels which they used in children’s toys, but forbade their use on the roads, lest they should assist a surprise attack on the capital. And the medieval Pyramids, not far from Mexico city, have been cut so exactly that this can have been done only by the use of laser rays – but this secret was withheld from the Spanish conquerors and took five centuries to rediscover. 

There need have been no war between Science and Poetry, nor between Technology and the Arts, had not the power of money forced too many poor, harried scientists and technologists to break what should have been a Hippocratic oath to use their skills only for the benefit of mankind. 

64.
Scientists, in the author’s opinion, 

(1)
take a prosaic view of poetry. 

(2)
claim that only scientific theories could be derived from fifth dimensional thinking. 

(3)
do not indulge in fifth dimensional thinking. 

(4)
are opposed to academic versification. 
(5)
can never become poets.
65.
The last sentence of the passage implies

(1)
that scientists and technologists have sold their souls for money. 

(2)
that economic compulsions have forced scientists to misuse their skills.

(3)

that money has been an evil influence on science and poetry.

(4)

the war between science and poetry is due to the intervention of money.

(5)

all of the above
66.
Which of the following statements is/are TRUE?

A.
Young, ignorant poets could not make head or tail of Aristotle’s Poetics. 

B.
Aristotle’s Poetics does not prescribe theories on writing poetry. 

C.
The poetic theory of Aristotle and his master is beyond the comprehension of most modern poets.

D.
Young poets who turned to Aristotle’s Poetics were disappointed and realized that Greek poetic myth was nothing but tribal and civic history crystallised  dramatic form.

(1)
A and C




(2)
Only B





(3)
A, C and D



(4)
B and D




(5)
B and C

67.
Which one of the following objects would the author most likely pick as the one that would afford maximum ‘Baraka’ for its owner?

(1)
A vintage car



(2)
A piece of pottery


(3)
A bicycle



(4)
A computer 



(5)
A typewriter
68.
Which of the following actions/acts cited in the passage does the author seem to approve of?
(1)
Egyptians guarding the steam engine technology.

(2)
Mexican preventing the use of wheel on roads.

(3)
Baghdad Sufis abstaining from using the electric battery.

(4)
Emperor Tiberius’s foresight in preserving the value of gold.

(5)
None of the above

69.
Pick the statement which cannot be attributed to the author of this passage.
A.
In matters of creativity, science is no match for arts.

B.
Modern science has brought in a certain monotony in man’s life.

C.
Science and scientists have become victims of money and greed. 

D.
It is time for scientists and artists to bury their differences in the interest of humanity.

(1)
A and D





(2)
B and C




(3)
A and C




(4)
C and D





(5)
A and B

Passage – II

Is it ever justified to use violence to prevent or to reduce violence? Are there circumstances in which the creation, or defence, of democracy should be attempted by violent means? More generally, is it plausible to speak of a democratic ethic of violence?

Such questions are back on the political agenda, in no small measure because even though all wars are nasty, some wars – uncivil wars like those in southern Sudan and Chechenya, Liberia and the Lebanon – have proved to be nastier than most. Marked by reckless and random killing without either mercy or ruth, they produce a trail of destructive effects that ripple through the wider world. Uncivil wars show just how easily collective strife can erupt in otherwise peaceful and vibrant societies with an impressive history of viable pluralism and how this strife can degenerate into a random and reckless violence that has a logic all of its own. And – the darkest point of all – uncivil wars show how difficult it is to define and master the arts of social pacification and democracy – building once the unrestricted killing of anybody who can be harmed and killed has broken out. 

If uncivil wars were confined to specific zones of the earth, away from the hubs and spokes of the globalising world as we know it, they would be of marginal interest to most people. But uncivil wars are not like that. They are not easily contained within geographic bounds. Uncivil wars are hunting and training grounds for gun-runners, mercenaries, profiteers and terrorists who operate on a global scale. Refugees stream from their infected battle zones, businesses disinvest from their wrecked economies; other non-governmental organisations are also forced to escape their clutches. Represented to global audiences by news media 24 hours a day, all these effects help to explain why only the blind, or callous, or foolish still regard them as far-away conflicts in far-away lands; and why military ‘humanitarian’ intervention and hence post-war reconstruction have become chronic global problems of our time. 

Intervention and post-war reconstruction are also now among the top items of the global political agenda, thanks to the latest fashions in military strategy. For the time being, the dominant pattern of foreign interventions has been set. Those carried out by American forces in Iraq, Somalia, Afghanistan and Kosovo resemble hit-and-run affairs. Like metal hammer that pounds a wooden stake into the earth, their aim is to beat the enemy into submission, in the expectation that the earthly elements of time will dissolve the animosity that originally nurtured the local conflict. Such intervention bears a strange resemblance to nomads’ strikes against their adversaries. Armed to the teeth, the attackers travel light, they rely on their ability to swoop down on their victims, using weapons like stealth bombers and cruise missiles – the contemporary equivalent of nineteenth century gunboats – to inflict the maximum harm, then to retreat, all the while supposing that the violated will not or cannot retaliate. 

Measured in terms of the power to build democratic institutions and peaceful ways of life, this American-style or Washington backed strategy of quick intervention is deeply flawed. With the outbreak of ‘peace’, US troops in Baghdad found themselves forced to conduct high-alert patrols through the streets dressed in full combat gear, pistols in hand. Every short-term occupier was potentially a target, including the young American military officers – in the absence of broad global support for the invasion – who had been left to organise schools, purify drinking water, repair power plants and pick up the rubbish, often without knowing what they were doing. On democratic grounds, American-style military intervention is also easy to shame. The disproportion between military casualties and the violence heaped upon civilians is staggering, so high are the levels of protection of the invading armies that their violence is felt by observers and victims alike to have a terrorist quality about it. 

There is another difficulty: the power to force others into submission does not translate spontaneously into the power of the survivors to form stable democratic governments and law-enforced civil societies. The psychic traumas, damaged tissues of sociability and ecological and infrastructural damage inflicted by both the war of intervention and all the senseless sanctification of cruelty that came before it are left untreated. In some quarters of the victors’ camp, nobody gives a damn about that; when the job is done, the vanquished are tacitly written off (as Kipling once put it) as ‘lesser breeds without the Law’. From the standpoint of the survivors on the ground, however, things look rather different. In the aftermath of uncivil war and outside military intervention, it is as if the worldly power to act stops flowing through people’s veins. The content of their worlds disintegrates. People feel numbed. They suffer muted anguish and pain. Reckless, indiscriminate killing saps people’s trust in themselves and others; it mutilates their capacity for self-organisation; it frustrates their ability to make short-term decisions and long-term plans through households, partnerships, neighbourhoods and other social associations and networks. 

Efforts to build or re-build civil society out of the ruins of war start from this point. So also do the difficulties. The crafting of peaceful social relations is undoubtedly an essential antidote to the ruins left behind by uncivil war. Yet talk of the need for a civil society is no all-purpose magic wand. New constitutions and some rudiments of government can be created within a few months. Standing armies take longer to form, perhaps two or three years, but not quite as long as viable market institutions, which take at least a decade. The most arduous task, which can take many decades, is the creation of other trust-producing civil society institutions, like professional associations, trade unions, neighbourhood organisations and self-help and civil liberties networks – none of which resemble naturally occurring substances. The delicate resource called civility cannot be agreed and written by means of round-table meetings, constitutional conventions, truth commissions or covenants (like the 1989 Tariff Accord that is credited with marking the rebirth of the Lebanese republic). Civility can neither be planned nor legislated from above, nor produced through rational agreement and public controversy. Nor can it be produced like pizzas and fast foods, or like automobiles or microchips, on assembly lines. It takes time to grow. 

70.
The author’s tone in the sentence, “with the outbreak of ‘peace’ …….. pistols in hands”, can be best described as 


(1)
sarcastic.




(2)
ironic. 





(3)
supercilious. 


(4)
cynical.





(5)
ingratiatory. 
71.
According to the passage, American-style interventions seem like terrorist acts due to the 


(1)
large-scale loss of civilian lives and property.

(2)
brutal use of deadly weapons. 

(3)

enormous protection that the forces enjoy even as they attack unarmed civilians. 

(4)

fear psychosis that they cause.
(5)

psychological power enjoyed by the invading armies. 

72.
In the statement, “In some quarters of the victors’ camp, nobody gives a damn about that,”  what does ‘that’ stand for? 


(1)
Psychic traumas that people suffer. 


(2)
Infrastructural and environmental damage. 

(3)

Healing the psychological wounds suffered by the victims.  

(4) 
The restoration process.

(5)
Sanctification of cruelty. 

73.
The grimmest aspect of all uncivil wars is the

(1) 
monumental task involved in building civic structures and organisations.

(2)
colossal destruction they leave behind. 

(3)
difficulty involved in social pacification. 

(4)
irreparable ecological damage they cause.
(5)
the ease with which violence takes over peaceful societies. 

74.
In this passage, the author has primarily. 

(1)
questioned the basis of a democratic ethic of violence.  

(2)
admonished the US for indulging and encouraging military intervention to settle local conflicts. 

(3)
condemned the use of violence to prevent or reduce violence in the world. 

(4)
discussed the causes and effects of uncivil wars. 
(5)
argued in favour of the sanctity of democracy.
75.
The most demanding of the reconstruction process is the 

(1)
building civic structures.

(2)
restoration of the economy.

(3)
formation of armies. 

(4)
setting up of government machinery. 

(5)
growth of civility.
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